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0DNDODK�LQL�EHUWXMXDQ�XQWXN�PHQJHWDKXL�DWDX�PHQMHODVNDQ�SHUDQ�SHQDWD�DUWLVWLN
GDODP�SURGXNVL�ILOP�SHQGHN�\DQJ�EHUMXGXO�³���+DUL�7HUDNKLU´��7HPD�NHPDWLDQ
GDQ�GXND�PHQMDGL�KDO�XWDPD�GDODP�ILOP�LQL�\DQJ�GLEXQJNXV�GDODP�FHULWD�+DQV
\DQJ�GLWLQJJDO�LVWULQ\D��-XOL��.HPDWLDQ�DGDODK�VHEXDK�KDO�\DQJ�DEVWUDN�GDQ
IHQRPHQD�GLPDQD�VHWLDS�PDQXVLD�DNDQ�PHQJKDGDSLQ\D��6HGDQJNDQ�GXND�DGDODK
UHVSRQV�DODPL�PDQXVLD�GDODP�PHQJKDGDSL�NHPDWLDQ��3HUDQFDQJDQ�DUWLVWLN�DNDQ
GLODNXNDQ�GHQJDQ�ULVHW�ILOP�GDQ�OLWHUDWXU�VHEDJDL�GDWD�UHIHUHQVL�YLVXDO��)LOP�LQL
EHUWXMXDQ�XQWXN�PHQJHGXNDVL�PDV\DUDNDW�EDKZD�VHPXD�RUDQJ�PHPLOLNL�SURVHV
GXNDQ\D�PDVLQJ�PDVLQJ�GDQ�FDUDQ\D�WLGDN�DGD�\DQJ�EHQDU�DWDX�VDODK�
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